Make: Ford

Model: 2010-2014 Mustang
/ I N , AN = . . .
== 4 . Applications: Side Splitter
A SUBSIDIARY OF PENTECH AUTOMOTIV PP P
PACKAGE CONTENTS TOOLS
QTY QTY
2 | side Splitter Flat Head Screwdriver
14 | 5/16”- 18 x 1" Buttonhead Screw Panel Pry Removal Tool
14 | 5/16" Washer Torx Screwdriver Set
14 | 5/16" Lock Washer 1/8" Drill Bit
14 | 5/16” Nut 3/8" Drill Bit

INSTALLATION INSTRUCTIONS

1) Lift the vehicle to gain access to the bottom of the side skirt.

Figure 1. -
/dl } - 2) Remove the plastic clips/screws on the bottom and ends of the

side skirt so that the side skirt can be pulled down. (Figure 2) Note:
Panel Pry Removal Tool and Torx Screwdriver are needed for this
step.

3) Line up the rear edge of the splitter to the end of the side skirt.
The side splitter should extend out approximately 1”from the side
of the side skirt.

4) Mark and drill the rear most 3/8" hole and attach the supplied
) hardware. (Starting with a 1/8" drill bit to create a pilot hole is
Figure 2. recommended.) The hardware should be attached as shown in
Figure 3.

5) Align the splitter parallel with the side skirt and mark center-
holes for drilling the remaining mounting holes in the side skirt.

6) Drill and install the remaining hardware onto the splitter and
side skirt (refer to mounting holes on the next page).

7) Reinstall plastic clips/screws on side skirt.

8) Repeat steps on the opposite side of vehicle.

) 9) Installation complete (Figure 4).
Figure 3.

5/16" Nut

5/16" Lock Washer
5/16" Washer

5/16" Buttonhead Bolt -
Figure 4. [ “%ga=

Rev 08/19



MOUNTING HOLES




